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An example with numbers:
High temperature = low resistance of thermistor, so high pd across resistor.  Also 7V across fan so it turns.
7V
2V
9V
Low temperature = high resistance of thermistor, so very low pd across resistor.  Only 1V also across fan so it does not turn
1V
8V
9V
Connecting the component across the variable resistor (LDR or thermistor) will have the opposite effect.
When it is dark the resistance of the LDR will be low, meaning the pd across both the resistor and bulb will be high.  Therefore the bulb gets brighter as it gets darker.

The pd of the power supply is shared between the fixed resistor and the thermistor.
If the temperature increases then the resistance of the thermistor will decrease.
This means there will be a larger pd across the resistor and therefore the fan, which will go faster (fan and resistor will always have the same pd as they are connected in parallel). 
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Light Emitting Diode (LED)

Light Dependent Resistor (LDR)

As the light intensity increases the resistance drops.  This means more current can flow.
Can be used in automatic night lighting and outdoor security lights.
As the temperature increases the resistance drops.  This means more current can flow.
Can be used as temperature detectors, such as in car engines and thermostats.
Thermistor

At a constant temperature the current is directly proportion to the voltage.
This means it obeys Ohm’s Law.
The current can only flow in one direction because a diode has a very high resistance in the opposite direction.
Diode

[bookmark: _GoBack]As the voltage increases the current increases.  This causes the filament to get hotter, meaning the resistance increases.  Therefore as the voltage continues to increase the current levels off.
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